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pente de 20 %

Fig. 24. Automobile a I'arrét dans une pente de 20 %.

o

A

B

A\O

: mi
R







Xa | & g )o Poned | & ) f/%
Q@ / ; ET {ya / wj J sz/ Hassod { "
f\

Xa +Biadd = 0 Xa= Px L
>/A1'\/f_?>— Red = © \/@ P%

yﬁ\ el @xw
33 - PLad @sim)= 0 = Pu M .
bl D0
X{\—-PS%L Booaz;(sf\'ﬁg— -8R " %L‘\%é
Y‘B 30006 ?@3143f035v,44) X = 0155
o bl) g |
/A /15‘/3€+30c>oaw13 ?Sﬂg( >Z{ ;@1—\



%A “'7L0"‘*70

)4”'\ i PS)‘(\oL: 0= -96) sz 0
Psin

%PMDI+Y5;T@ _G,TJ\

337 P (el &0,55;‘\4) -5




533 7

’BB%OL SnoL-f-ZaﬁO{-f-OSSnol 0

é

3ol | szfz)Jr gmo(( ):o

IT\C)\ mc}g ‘IL /(;3 B
C'OSOL O%J‘_BS -




